

19, 0

①

1, 0

$$\frac{\sqrt{17}-1}{t+\sqrt{t}} = \frac{15\sqrt{t}-1}{t+\sqrt{t}} \times \frac{t-\sqrt{t}}{t-\sqrt{t}} = \frac{15\sqrt{t}-9-t+\sqrt{t}}{14} = \frac{16\sqrt{t}-14}{14} = \sqrt{t}-1$$

$$(1 - \sqrt{x})^{-1} = \frac{1}{1 - \sqrt{x}} \times \frac{1 + \sqrt{x}}{1 + \sqrt{x}} = 1 + \sqrt{x} \rightarrow \sqrt{x} - 1 + 1 + \sqrt{x} = 2\sqrt{x} + 1$$

د

$$\left. \begin{aligned} x &= r \rightarrow axb = \sqrt{r-1} = \sqrt{r} \\ a^r + b^r &= r\sqrt{r} \end{aligned} \right\} \Rightarrow \frac{(a+b)^r}{a^r + b^r} = \frac{r\sqrt{r} + r\sqrt{r}}{r(\sqrt{r} + r)} \quad \textcircled{1}$$

$$\begin{aligned} \Rightarrow \sqrt[12]{x^{12}} \times \sqrt[12]{x^4} \times \sqrt[12]{x^8} &= (x^{12})^{\frac{1}{12}} \times (x^4)^{\frac{1}{12}} \times (x^8)^{\frac{1}{12}} = x^{\frac{12}{12}} \times x^{\frac{4}{12}} \times x^{\frac{8}{12}} \\ &= x^1 \times x^{\frac{1}{3}} \times x^{\frac{2}{3}} = x^{\frac{12}{12} + \frac{4}{12} + \frac{8}{12}} = x^{\frac{24}{12}} = x^2 = 12 \end{aligned}$$

$$\frac{2x}{2x} \times \frac{y}{y} = 1$$

$$A^2 = (\sqrt{1+\sqrt{2}} + \sqrt{\sqrt{2}-1})^2 = 1 + \sqrt{2} + \sqrt{2}-1 + 2\sqrt{\sqrt{2}-1} = 2\sqrt{2} + 2\sqrt{2} \rightarrow A = \sqrt{2}(\sqrt{\sqrt{2}+1})$$

$$\frac{\sqrt{r}(\sqrt{r^2+\sqrt{r}})}{(\sqrt{r^2-\sqrt{r}})} = \sqrt{r} \times \frac{\sqrt{r^2+\sqrt{r}}}{\sqrt{r^2-\sqrt{r}}} \rightarrow \frac{\sqrt{r^2+\sqrt{r}}}{\sqrt{r^2-\sqrt{r}}} \times \frac{\sqrt{r^2+\sqrt{r}}}{\sqrt{r^2+\sqrt{r}}} = (\sqrt{r^2+\sqrt{r}})^2 \rightarrow \sqrt{r} \times \sqrt{(\sqrt{r^2+\sqrt{r}})^2} = \sqrt{r}(\sqrt{r^2+\sqrt{r}})$$

$\sqrt[94]{\phantom{x}} \quad \sqrt{\phantom{x}} \quad \sqrt[14]{\phantom{x}} \quad r_F \quad 94$

$$((a-b)^r)^r ((a+b)^r)^r \Rightarrow (a-b)^r (a+b)^r \Rightarrow (a^2+b^2)^r \Rightarrow a^2-b^2 = \sqrt{r+1} - \sqrt{r-1}$$

$$= 2\sqrt{r} \Rightarrow (r-1)(r+1) = 2 \Rightarrow (2\sqrt{r} - \sqrt{r+1})^2 = r+1-1(2\sqrt{r})$$

$$\Rightarrow 4\sqrt{r}(r-\sqrt{r}) \Rightarrow r=16 \quad \checkmark$$

$$((a+\frac{1}{a})^r - r)^r \Rightarrow a^r + \frac{1}{a^r} + r - r \Rightarrow (a^r + \frac{1}{a^r})^r \Rightarrow \sqrt{r-1} - \sqrt{r-1}$$

$$\Rightarrow a^r = r - \sqrt{r} \Rightarrow a^r + \frac{1}{a^r} = (r - \sqrt{r}) + (\sqrt{r} + 1) \Rightarrow 1$$

$$r^{\frac{1}{r}} \times r^{\frac{1}{r}} = r^{\frac{1}{r} + \frac{1}{r}} = r^{\frac{2}{r}} = r^{\frac{1}{\frac{r}{2}}} = \sqrt[r]{r^2}$$

$$(\frac{1}{r})^{-\frac{1}{r}} = (r^{-1})^{-\frac{1}{r}} = r^{\frac{1}{r}} \times r^{\frac{1}{r}} = r^{\frac{2}{r}} = \sqrt[r]{r^2}$$

$$(rA)^{-\frac{1}{r}} = (r \times r)^{-\frac{1}{r}} = \frac{1}{\sqrt[r]{r}} = \frac{1}{r^{\frac{1}{r}}}$$

$$a^{\frac{1}{r}} \times r \times a^{\frac{1}{r}} \Rightarrow a \times r^{\frac{1}{r}} \times a^{\frac{1}{r}} \Rightarrow a \times a^{\frac{1}{r}} = a^{\frac{r+1}{r}}$$

$$\rightarrow (\frac{1}{a} - r) = r\sqrt{r} - r = r(\sqrt{r} - 1) \rightarrow \frac{r(\sqrt{r}-1)}{\sqrt{r}+1} \times \frac{\sqrt{r}-1}{\sqrt{r}-1} = \frac{r(1-r)}{r-1} = \frac{r(1-r)}{r-1} = r(1-\sqrt{r}) = 4-3\sqrt{3}$$

$$\frac{r(1+r-\sqrt{r})}{r-1} = \frac{r(1-\sqrt{r})}{r} = r(1-\sqrt{r}) = 4-3\sqrt{3}$$

$$A = \sqrt{a+b} \quad B = \sqrt{a-b} \quad (A-B)(A+B) = A^2 - B^2$$

$$A-B = r$$

$$(A+B) = a+b \Rightarrow A+B = \frac{a+b}{r}$$

$$A+B-r = \frac{a+b}{r} - r = \frac{(a+b)-r^2}{r} = \frac{1}{r}$$